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The school chorus has 
108  members . How 

many rows of 12 
members can be 

formed? 

Mr. Wagner has 288 
bricks. He is building a 
new patio. How many 

rows of 9 bricks can he 
lay for the new patio? 

 

There are 15 fish tanks in 
your school library.  There are 

394 fish in each tank. How 
many fish are there 

altogether? 
 

Tina earned $143 
babysitting in 13 

months.  She earned 
the same amount 
each month. How 

much did Tina earn 
babysitting each 

month? 
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There are 4 beans in the jar. Each day 3 
beans are added. How many beans are in 

the jar for each of the first 5 days? 

Draw the next two patterns in the sequence below: 

 

 

Name: __________________________ 



Friday Math for Today – 4
th

 Grade 

 
BE SURE TO LABEL YOUR RESPONSE 1, 2, 3, 4 


